Chapter-1 Work Sheet (NSRRI
KNOWING OUR NUMBERS

1. The number of person who visited the holy Shrine of Mata Vaishno
Devi during last consecutive years was 13789509 and 12976498
respectively. How many persons visited the Shrive during these
years?

2. Last years, three sugar factories in a town produced 24809565 bags,

18738576 bags and 9564568 bags of sugar respectively. How many

bags were produced by all the three factories during last year?

A number exceeds 37684955 by 3615045. What is that number?

The total population of a city is 28756304, if the number of males is

16987059, find the number of females in the city.

By how much is 132465 larger than 46586427

By how much is 5643879 smaller than one crore?

What number must be subtracted from 11010101 to get 26359677

The cost of a chair is Rs 1485. How much will 469 such chairs cost?

A factory produces 6985 screws per day. How many screws will it

produce in 358 days?

10. From a cloth 5 m long, a piece of length 2m 85 cm is cut off.
What is the length of the remaining piece?

11. The total mass of 8 pockets, each of the same size is 10 kg 600g.
What is the mass of each such packet?

12. A rope of length 10m has been divided into 8 pieces of the same
length. What is the length of each piece?
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